Appendix A.
Note: VOT has to be replaced by the relevant VOT value (starting with 5ms)

Script:
TIME = 0; F0 = 120; F1 = 300; F2 = 1920; F3 = 2780; AF = 30; AV = 0
TIME = 5; AF = 30; AH = 15; AV = 0
TIME = VOT; AV = 55
TIME = 10; AF = 0
TIME = VOT + 30; AV = 60
TIME = 50; F1 = 600; F2 = 1770; F3 = 2580
TIME = 150; F1 = 690; F2 = 1660; F3 = 2490
TIME = 165; AV = 60
TIME = 230; AV = 58
TIME = 250; AV = 45
TIME = 265; AH = 15
TIME = 270; AV = 0
TIME = 290; F0 = 90; F1 = 690; F2 = 1660; F3 = 2490; AH = 0
END

